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Exercise 1.1:
Show how to use the A*-Algorithm, to find the shortest path in the maze,
starting from the mouse and ending in the cheese.
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a) Can you think of different heuristics?

b) Discuss with your peers in the forum what makes your chosen heuristic
measure good.



Exercise 1.2

Consider the Bridge-Crossing Problem, where 4 persons are on one side of a
bridge and all of them need to get to the other side. It is nighttime and they
have only one torch. However, the bridge is built to only withstand 2 persons.
Also, the torch needs to be brought back to the remaining persons on the other
side. Each person walks at a different speed and when they go together they
must walk at the speed of the slowest. The goal is to find the minimal time for
all persons to cross the bridge.

Person | Crossing Time

A 1 Min.
B 2 Min.
C 5 Min.
D 10 Min.

a) Can you think of a dynamic programming algorithm to compute the so-
lution?

b) Is there a general procedure which finds an optimal solution for an arbi-
trary number of people and crossing times?



